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01 MEIBEE 253 108,728 134,700 AN 25,972
o HOoe 2=l 108,728,000 108,728
= 86,982
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s 10,873
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= 11,400
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[ia 5,700
401 Al HI K 201 I 22,800 26,600 A 3,800
= 11,400
< 5,700
s 5,700
01 A& HI 22,800 26,600 A 3,800
o S0{E FHOHO FEHHEAIL
3,800,000& * 69H 22,800
= 11,400
< 5,700
s 5,700
SV REIE=DNR= DN = DNEC 105,948 98,724 7,224
= 52,974
< 26,487
s 26,487
101 14 dl 105,948 98,724 7,224
= 52,974
< 26,487
[ia 26,487
04 JIZHHZ2XREE S 105,948 98,724 7,224
o ZoHel fXxtel Al 105,948,000 105,948
= 52,974
< 26,487
s 26,487
ZOHQI==RIXXIME <0 148,960 140,284 8,676
= 74,480
< 37,240
e 37,240
101 @124 dl 148,960 140,284 8,676
2 74,480
< 37,240
i 37,240
04 JI12ZtHZ22HEE =+ 148,960 140,284 8,676
o Hoe #E=<0 XN 148,960, 000 148,960
= 74,480
< 37,240
s 37,240
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o e AT 0ERS
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301 et A=z 4,383 8,200 A3,817
= 2,706
[ia 1,677
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= 2,706
e 677
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1,000,000& * 1& 1,000
TSHJAURLR 2IXE 2,198,494 1,875,400 323,094
= 1,507,873
< 227,971
s 462,650
307 gl2tol & 2,198,494 1,875,400 323,094
= 1,507,873
< 227,971
s 462,650
10 AL SXAIEEHE2EH EX 2,198,494 1,875,400 323,094
o HAUQAAML 2HH| 2,154,104,000& 2,154,104
= 1,507,873
= 193,869
= 452,362
o AUQUANL BMNX SE4T
39,690, 000& 39,690
< 31,752
[ia 7,938
o FAURAANE ZEHRBAYH| 4,700,000 4,700
< 2,350
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s 297,871
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< 160,847
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307 QI2t0| ™ 1,500 0 1,500
04 CIZ2tSHALALS B X 1,500 0 1,500
o AN SEAXALE SOISHA X& 1,500,000 1,500
FOMEL'2H 25,200 20,200 5,000
201 et 19,200 14,200 5,000
01 AR 22l ] 4,200 4,200 0
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o MEXY APZZX  7,0008 * 4% * 150 4,200
03 A2 | 15,000 10,000 5,000
o DIZEE AIS2XNSAMA S
15,000,000 * 13| 15,000
202 044 6,000 6,000 0
01 2L Y| 6,000 6,000 0
o MBI AREZF 20,0008 * 4 * 75 6,000
2IotEE22 & X 361,425 374,765 A 13,340
& 1,200
= 360,225
g&g2e 29 361,425 374,765 A 13,340
o= 1,200
= 360,225
B2 SAL Y B A& 102,225 115,365 AN 13,140
201 et d| 3,465 3,465 0
03 A2 EH| 3,465 3,465 0
o EEFY Al 3,465
- MZ2H4| 150,000 * 10 1,500
- X3 100,000 * 34 300
- OtF & ot & 1,500,000& * 1A 1,500
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301 et A= 11,900 13,900 A 2,000
09 HAIAHI EAZ 5,900 7,900 A 2,000
o HEY BA BN PEINS 2y
20,000& = 100™ 2,000
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300,000& * 3JH EHXAl 900
o 52 229 2 22oH 3o
1,000,000& * 23] 2,000
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o ¥d R3X =+ 258,000
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= _ — d =
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o SYFINYR =& 7,0008 » 48 » 147 4,116
202 44l 4,960 4,960 0
01 SLHOIYI 4,960 4,960 0
o YNGR =& 20,0003 * 4% » g2 4,960
307 glz2tol & 56,200 32,200 24,000
= 5,500
< 1,650
s 49,050
11T M SRASEEX 56,200 32,200 24,000
o SIYQAHAER 2 X
150,000& » 2H * 503 15,000
o 0ls%eiy 2 850,000& * 12& 10,200
o MASE FHEZMH
2,000,000& * 1000 2 20,000
o AtdlZeltia Xt Jt X &l
500,000& * 229 11,000
= 5,500
= 1,650
s 3,850
MAs =0 Moty X& 38,000 47,000 A9,000
301 et A= 38,000 47,000 A 9,000
01 MEIBEE 2053 38,000 47,000 A9,000
o ZUI=E ==X AE =0 FH XN
300,000& * 709 21,000
o Jlgg, & =& 6,000,000& * 23 12,000
o Mol ,2e+s FIE=E
100,000& * 500+ 5,000
rE=1=DADNE 185,250 83,128 102,122
= 145,320
< 18,165
[ia 21,765
2=2=X K& 181,650 79,528 102,122
= 145,320
= 18,165
s 18,165
301 e A= 181,650 79,528 102,122
= 145,320
< 18,165
s 18,165
01 Ml28E+06l= 181,650 79,528 102,122
o 2g=2XX& 1,038,000& * 175%H 181,650
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e 18,165
ol = 3,600 3,600 0
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02 =224l 600 600 0
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== 50,000& = 123 600
307 21201 A 3,000 3,000 0
01 92724l 3,000 3,000 0
o Mol#s ==+l 300,000& = 109 3,000
U SAHHE XI& 101,537 98,546 2,991
= 22,223
< 6,591
s 72,723
NRASAMA B2 XA 5,139 5,139 0
= 2,570
s 2,569
307 gl2tol & 5,139 5,139 0
= 2,570
[ia 2,569
06 283 5,139 5,139 0
o ANESAX 28=Z K& 3,3008 * 1,5579Y 5,139
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[ 2,569
ANESAF 243 XN (BX) 15,991 16,000 A9
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201 L4l 4,000 4,000 0
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i 2,800
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s 2,800
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s 2,116
01 =8l 3,023 3,000 23
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s 5,484
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= 1,500
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11T A EXAIEEX 5,000 5,000 0
o JIEAEZH2AY 5,000,000& = 1JH A 5,000
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201 gBt2A | 1,000 1,000 0
01 AP 2t 2| H| 1,000 1,000 0
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301 gELE A= 3,000 3,000 0
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ANASAHEEH 29 Al 4,100 4,100 0
201 Let24d] 4,100 4,100 0
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02 =224l 2,920 2,920 0
<3SESIZAHAM > 0
o NESAMH H323 75,000& * 122 900
o NESAMA 2AAMHA EE
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o NESMA SES L5
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301 et a = 5,836,090 5,861,461 A 25,371
= 4,668,872
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